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Passage:

India's gross domestic product (GDP) grew by 7.3 per cent during 2014-15, according to the official data. The figure fell short
of the 7.4 per cent predicted by the Central Statistical Organisation (CSO). This is certainly a creditable achievement when the
growth rate in many developed countries is not even half of it. However, what is most distressing is that the growth rate in the
agriculture sector was a negligible 0.2 per cent during the same period. Had it performed better, the overall growth rate would
have been far more creditable. As a majority of the people still depends on agriculture for their livelihood, the niggardly
growth rate is nothing but a national disaster the consequences of which are difficult to be visualised.

That the agricultural sector is in distress and some of the farmers are even forced to commit suicide is no news. The fact is
that little has so far been done to strengthen agriculture. It is also well known that the agricultural output has close relations
with the climatic conditions. The recent unseasonal rains in many parts of India, followed by searing heat wave conditions,
have caused extensive damage to the crops. In the weeks to come, demands for waiving of agricultural loans and increasing
the procurement prices of food grains are bound to be taken up by political leaders. Eventually, the government would be
forced to concede some of their demands.

Needless to say, this will not help the agricultural sector to regain health. Instead, it will only perpetuate the dependency of
the farmer on government subsidy, a problem that needs to be addressed in right earnest. What is needed is a shift in
emphasis-from subsidy to investment. It is a fact that agriculture has not seen any investment worth the name during the last
few decades. In fact, after the success of the Green Revolution, this sector has not seen much investment. Cold storages that
can protect perishable commodities like potato and onion and warehouses where grains can be kept protected from rains and
moisture are just two areas where heavy investment is required. The insurance industry can be encouraged to come up with
crop insurance policies which are imaginatively conceived to meet the needs of the farmer. If this kind of structural change is
not attempted, Indian agriculture will remain moribund and the farmers will continue to wallow in distress.

Itemcode : PP1101
Q1 : According to the passage, the growth in the India's GDP is:

(a) More than the Estimated Rate.

(b) Exactly same as the Estimated Rate.

(c) Less than the Estimated Rate.

(d) First Increased and then decreased as per the estimates.
Key: C

Itemcode : PP1102
Q2 : The growth rate in agricultures sector compared to other sector:

(a) Contributes largely to the India's GDP.

(b) Contributes very less to the India's GDP.
(c) Helps in controlling inflation of the country.
(d) Indicates a boom in the agriculture sector.
Key: B

Itemcode : PP1103
Q3 : Agricultural output is related to:

(a) Financial Credit given to farmers

(b) Infrastructural Development

(c) Government's support given to farmers
(d) Climatic Conditions

Key: D

Itemcode : PP1104

Q4 : According to the passage, what are the main reasons for the damage of the crops in India?
A. Unseasonal Rains
B. Lack of Financial Support
C. Lack of Irrigation Facility
D. Hot Climate

(a) Only Aand B
(b) Only BandC
(c) Only Aand D
(d) Only Cand D
Key: C

Itemcode : PP1105
Q5 : Due to distress in agriculture sector, the government can face which of the following demands from the farmers?
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(@) Waiving of agricultural loans.

(b) Increasing the procurement prices of food grains

(¢) Increasing the agricultural loans.

(d) Waiving of agricultural loans and increasing the procurement prices of food grains.
Key: D

Passage:

In a big step towards resolution of bad loans, Indian banks, Reserve Bank of India and the union finance ministry are
discussing setting up two special funds to resurrect troubled investments through equity infusion or more debt funds. The two
funds proposed are Stressed Assets Equity Fund and Stressed Assets Lending Fund. "Creation of separate funds for resolution
of stressed assets is being worked out. Indian Banks' Association (IBA) is finalizing the road map,"adding the corpus of these
two funds will be fluid and will take case-specific action.

According to RBI data, the stressed assets ratio for the banking sector, which includes gross non-performing assets (NPAs),
increased to 14.5% at the end of December 2015 as against 9.8% at the end of March 2012. State-run banks have the
highest share in stressed loans. Their gross NPAs or bad loans alone rose from Rs 2.67 lakh crore in March 2015 to Rs 3.61
lakh crore in December. A senior official with IBA said that the stressed assets equity fund (SAEF) will invest in equity of
stressed borrower bringing equity to burdened projects. "It may take controlling stake either directly or through strategic debt
restructuring scheme (SDR)," he said.

The other fund named stressed assets lending fund (SALF) will provide last mile funding or working capital funding to assets in
trouble because of funding constraints. "An oversight committee will be formed to look into cases where these funds will
invest. Discussions are on to work out the modalities," said the above quoted government official. Earlier this month, RBI had
come out with a scheme for sustainable structuring of stressed assets, also termed as S4A, to strengthen the lenders' ability
to deal with stressed assets and provide an avenue for reworking the financial structure of entities facing genuine difficulties.
"The S4A envisages determination of the sustainable debt level for a stressed borrower and bifurcation of the outstanding debt
into sustainable debt and equity/quasi-equity instruments which are expected to provide upside to the lenders when the
borrower turns around," the RBI had noted in a statement.

Itemcode : PP1106
Q6 : Which of the following funds is build to resurrect troubled investments through debt funds?

(a) SAEF
(b) SEAF
(c) SALF
(d) SLAF
Key: C

Itemcode : PP1107
Q7 : What are Non-Performing Assets (NPAs)?

(a) Assets of the banks which bring in cash.

(b) Assets of the banks which don't bring any return.
(c) Movable assets of the bank.

(d) Immovable assets of the bank.

Key: B

Itemcode : PP1108
Q8 : Which of the following statement is incorrect according to the passage?

(a) Gross NPAs rose from Rs 2.67 lakh crore in March 2015 to Rs 3.61 lakh crore in December 2015.
(b) Gross non-performing assets (NPAs) were 14.5% in December 2015.

(c) Gross non-performing assets (NPAs) were 9.8% in March 2012.

(d) Gross non-performing assets (NPAs) were 14.5% in March 2012.

Key: D

Itemcode : PP1109
Q9 : Stressed Assets Lending Fund (SALF) will provide:

(a) Equity Capital Fund

(b) Fixed Capital Fund

(c) Working Capital Fund
(d) Long-term Capital Fund
Key: C

Itemcode : PP1110
Q10 The objective of the scheme S4A is:

(@) To strengthen the lenders' ability to deal with stressed assets.

(b) To provide an avenue for reworking the financial structure of entities facing genuine difficulties.
(c) Sustainable structuring of stressed assets

(d) All of the above

Key: D

Itemcode : PP1111

Q11 Who is C's partner in a game of cards involving four players A, B, C and D?
I. D is sitting opposite to A.
II. B is sitting right of A and left of D.

(a) if the data in statement I alone are sufficient to answer the question;
(b) if the data in statement II alone are sufficient to answer the question;
(c) if the data either in I or II alone are sufficient to answer the question;
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(d) if the data even in both the statements together are not sufficient to answer the question;
Key: C

Itemcode : PP1112

Q12 In which year was Sanjay born?
I. Sanjay is six years older than Gopal.
II. Gopal's brother was born in 1982.
III. Sanjay's brother is two years younger than Gopal's brother who was eight years younger

(a) I and II together.

(b) II and III together
(c) I and III together.
(d) I, II and III together.
Key: D

Itemcode : PP1113

Q13 In a certain code language, 'it be pee' means 'dogs are blue', 'sik hee' means 'large horses' and 'pee mit hee' means
'horses are pigs'. How is 'large' written in that code?

(a) Hee
(b) Sik
(c) Pee
(d) None of these
Key: B

Itemcode : PP1114

Q14 Persons X, Y, Z and Q live in red, green, yellow and blue coloured houses placed in a sequence on a street. Z lives in a
yellow house. The green house is adjacent to the blue house. X does not live adjacent to Z. The yellow house is in
between the green and red house. The colours of the house X lives in is:

(a) Blue
(b) Green
(c) Red
(d) Yellow
Key: A

Itemcode : PP1115

Q15 Four friends, Mr. Baker, Mr. Carpenter, Mr. Shoemaker and Mr. Tanner all have different occupations: baker, carpenter,
shoemaker and tanner. But none of them has an occupation which matches his name. Each man always wears the same
colour shirt, brown, cobalt, silver or turquoise. But the colour shirt he wears does not start with the same letter as his
name or his occupation Mr. Shoemaker and the tanner dine together regularly. The shoemaker wears a brown shirt. Mr.
Carpenter is the baker. What is the Shoemaker's occupation?

(a) Carpenter
(b) Tanner

(c) Baker

(d) Shoemaker
Key: A

Itemcode : PP1116
Q16 Arnav said, "This girl is the wife of the grandson of my mother." Who is Arnav to the girl?

(a) Father

(b) Grandfather
(c) Husband

(d) Father-in-law
Key: D

Itemcode : PP1117

Q17 Naga starts walking from his home and travels 6 km straight and after that, he takes a right turn and travels 8 km.
After that, he takes another right turn and travels 3 km. Finally, he takes another right turn and travels 4 km. Find out
how far he is from his home.

(a) 5km
(b) 4 km
(c) 6 km
(d) 3 km
Key: A

Itemcode : PP1118
Q18 Find the next number in the sequence...... 15, 31, 63, 127, 255.

(a) 110
(b) 170
(c) 511
(d) 181
Key: C

Itemcode : PP1119

Q19 A,B,C,D, E F G, H, and K are sitting around a circle facing the center. F is fourth to the right of A , who is third to the
right of B. K is fourth to the left of B and third to the right of D. C is third to the right of H. E is second to the left of G.
Who is sitting immediate right of F?
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(a) D
(b) G
() C
(d) A
Key: B

Itemcode : PP1120
Q20 If the Statements given below are valid:

C
D

v oI

1.A>B
2.G<C
Which conclusion/s is/are true:

1.A<D
2.A=G

(a) Only conclusion I holds true

(b) Only conclusion II holds true.

(c) Neither conclusion I nor II holds true.
(d) Both conclusions I and II hold true.
Key: C

Itemcode : PP1121
Q21 If RIVER is coded as TMBMB, then DIARY is coded as

(a) ENGZI
(b) FMGZI
(c) FNHZ]
(d) EMGZI
Key: B

Itemcode : PP1122
Q22 Consider the series 4,14,34,64,?. Find the number in the place of?

(a) 93
(b) 114
(c) 104
(d) 124
Key: C

Itemcode : PP1123
Q23 Fish:Aquarium:: Dog:?. Find the word in the place of?

(a) Burrow
(b) House
(c) Stable
(d) Kennel
Key: D

Itemcode : PP1124

Q24 Arrange the words in a logical sequence:
: 1. Rainbow 2. Rain 3. Sun 4. Happy 5. Child

(a) 23145
(b) 32145
(c) 23154
(d) 32451
Key: C

Itemcode : PP1125

Q25
: B|J|C
K(D|?
Find the missing letter in the place of?
(@) F
(b) M
(¢) N
(d) L
Key: D

Itemcode : PP1126

Q26 Consecutive letters occupy alternate positions in each row: H, I; B, C and hence K, L.
: How is D related to A?

I. B is the brother of A

II. B is D's son

(a) A statement I alone is sufficient to answer while Statement II is not alone sufficient
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(b) Statement II alone is sufficient to answer while Statement I is not alone sufficient
(c) Either statement I or statement II is sufficient

(d) Neither statement I nor statement II is sufficient

Key: D

Itemcode : PP1127
Q27 Pick the odd one out: Square, Triangle, Rectangle, Cuboid

(a) Square
(b) Triangle
(c) Rectangle
(d) Cuboid
Key: D

Itemcode : PP1128
Q28 Priya introduced Chaya as "She is the daughter of my husband's Mother-in-law". How Chaya related to Priya?

(a) daughter

(b) daughter-in-law
(c) grand daughter
(d) sister

Key: D

Itemcode : PP1129
Q29 Which of the following diagrams indicates the best relation between Human, women, Mother?

(@) .
(b)

(©)

(d)

RO

Key:

Itemcode : PP1130

Q30 Statements:
: All dogs are fish.
No cat is fish.
Conclusions:
A. No cat is a dog.
B. some fish are dogs

(a) Only conclusion A follows

(b) Only conclusion B follows

(c) Both conclusions follow

(d) Neither of the two conclusions follows
Key: C

Itemcode : PP1131
Q31 Three friends went to a restaurant and found some pieces of cake in front of them. Shanti took one - fourth of them

What is the initial number of pieces of cake if there were 6 at the end?

and returned 3. Rameera took one -half of them and returned one. John took one-seventh of them and returned none.

(a) 10
(b) 24
(c) 12
(d) 8
Key: C

Itemcode : PP1132

Q32 A + B means A is the sister of B. A - B means A is the brother of B. A x B means A is the father of B.
What does A x B - C mean?

(a) Ais the father of B
(b) B is the father of A
(c) Ais the father of C
(d) Cis the father of A
Key: C

Itemcode : PP1133
Q33 182764 125 .... 343 what is the missing number?

(a) 225
(b) 248
(c) 208
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(d) 216
Key: D

Itemcode : PP1134
Q34 201917 14 10 .... What is the next number?

(a) 6
(b) 8
() 5
(d) 3
Key: C

Itemcode : PP1135

Q35 What comes next in the series?
14, 3.5, 0.875, ?

(@ 1

(b) 0.21875
(c) 0.0546
(d) 1.5
Key: B

Itemcode : PP1091
Q36 The Centre for Cellular and Molecular Biology is situated at

(a) Patna

(b) Jaipur

(c) Hyderabad
(d) New Delhi
Key: C

Itemcode : PP1092
Q37 'Kandla'is situated on the Gulf of Kachh is well known for which of the following?

(a) Export Processing Zone

(b) Centre for Marine Food products
(c) Cutting and Polishing of diamonds
(d) Ship breaking industry

Key: A

Itemcode : PP1093
Q38 Sardar Vallabhai Patel National Police Academy is located at

(a) Bangalore
(b) Hyderabad
(c) Abu Road
(d) Dehradun
Key: B

Itemcode : PP1094
Q39 In which of the following festivals are boat races a special feature?

(a) Onam

(b) Rongali Bihu
(c) Navratri

(d) Pongal
Key: A

Itemcode : PP1095
Q40 Kalchakra ceremony is associated with which of the following ceremonies?

(a) Hinduism
(b) Buddhism
(c) Jainism
(d) Islam
Key: B

Itemcode : PP1096
Q41 Who among the following invented the small pox vaccine?

(a) Robert Koch
(b) Edward Jenner
(c) Robert Hooke
(d) Louis Pasteur
Key: B

Itemcode : PP1097
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Q42 The most electronegative element among the following is

(a) sodium
(b) bromine
(c) fluorine
(d) Oxygen
Key: C

Itemcode : PP1098
Q43 The great Victoria Desert is located in

(a) Canada

(b) West Africa
(c) Australia

(d) North America
Key: C

Itemcode : PP1099
Q44 Who is the author of the book 'Forbidden Verses'?

(a) Salman RushDie
(b) Abu Nuwas

(c) Taslima Nasrin
(d) Lawrence

Key: B

Itemcode : PP1100
Q45 The First Konkani film 'Mogacho anvddo' was released in

(a) 1949
(b) 1987
(c) 1950
(d) 1972
Key: C

Itemcode : PP1061

Q46 With reference to the Constitution of India, prohibitions or limitations or provisions contained in ordinary laws cannot
act as prohibitions or limitations on the Constitutional powers under Article 142. It could mean which one of the
following?

(b) Supreme Court of India is not constrained in the exercise of its powers by laws made by the Parliament.

(c) In the event of grave financial crises in the country, the President of India can declare Financial Emergency without the
counsel from the Cabinet.

(d) State Legislatures cannot make laws on certain matters without the concurrence of Union Legislature.

Key: B

(@) The decision taken by election commission of India while discharging its duties cannot be challenged in any court of law.

Itemcode : PP1062

Q47 Which of the following has been held as Rights under Article 21 of the Constitution of India ?
: i) Right to health

ii) Right to speedy trial

iii) Right to travel abroad

iv) Right against delayed execution

(a) i, ii and iii only
(b) i, iii and iv only
(c) i, ii, and iv only
(d) i, ii, iii, and iv
Key: D

Itemcode : PP1063
Q48 With reference to Indian Constitution, prohibition of cow slaughter is provided under the

(a) Art.46

(b) Art.47

(c) Art.48

(d) Art.48A
Key: C

Itemcode : PP1064
Q49 Which Article of the Constitution makes mention of reservation in public employment in favour of backward classes

(a) Art16(1)
(b) Art 16(2)
(c) Art 16(3)
(d) Art 16(4)
Key: D

localhost/GpscQpgrid/DispQSet.aspx

7



11/28/2020 .. GCBT Online .:

Itemcode : PP1065
Q50 The Confession of an accused under sec.164 of Cr.P.C can be recorded during

(a) Inquiry

(b) Trial

(c) Investigation

(d) none of the these
Key: C

Itemcode : PP1066

Q51 In which of the following cases, has the Constitution Bench of the Supreme Court held that the registration of FIR is
mandatory?

(a) Lalita Kumari v Govt of U.P & Ors

(b) Shashikant v Central Bureau of Investigation
(c) Sirajuddin v State of Madras

(d) None of the above

Key: A

Itemcode : PP1067
Q52 "A" purchased a stamp paper in the name of a person whose name he intends to forge. "A" is guilty of

(a) Forgery

(b) Attempt to forgery
(c) Attempt of cheating
(d) no offence

Key: D

Itemcode : PP1068
Q53 Which of the following is not an offence introduced by the Criminal Law (Amendment) Act 20137

(a) Stalking

(b) Voyeurism

(c) Eve teasing

(d) None of the above
Key: C

Itemcode : PP1069
Q54 Can a Magistrate convert a summons case into a warrant case?

(a) Yes

(b) No

(c) Depends

(d) None of the above
Key: A

Itemcode : PP1070

Q55 In which of the following cases, the Supreme Court held that the evidence relating to electronic record, being a special
: provision, the general law on the secondary evidence under section 63 read with section 65 of the Evidence Act shall
yield to the same?

(a) Vishwa Lochan Madan v Union of India
(b) Mannan S K v State of West Bengal
(c) Ansar PV v P K Basheer

(d) None of the above

Key: C

Itemcode : PP1071

Q56 The accused is in police custody, during the absence of the police officer, the accused makes a confession to a third
person , such confession is

(a) Admissible

(b) Not admissible
(c) Not relevant

(d) None of the above
Key: A

Itemcode : PP1072

Q57 The Magistrate shall endeavor to dispose of every application seeking a relief under Domestic Violence Act within a
period of days from the date of its first hearing.

(a) 60
(b) 30
(c) 90
(d) 45
Key: A

Itemcode : PP1073

Q58 Authentication of any electronic record by a subscriber by means of the electronic technique specified in the second
: schedule of the Information Technology Act 2000 is called
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(a) Digital certificate
(b) Electronic signature
(c) Digital signature
(d) None of the above
Key: B

Itemcode : PP1074

Q59 A police officer not below the rank of shall investigate, any cognizable offence under the Information
Technology Act 2000.

(a) DYSP

(b) sP

(c) Inspector

(d) None of the above
Key: C

Itemcode : PP1075

Q60 Whoever, uses a child or children for pornographic purposes shall be punishable with imprisonment of either description
which may extend to under POCSO Act 2012

(a) 3 years
(b) 5 years
(c) 7 years
(d) 1 year
Key: B

Itemcode : PP1076
Q61 With reference to the Constitution of India, consider the following statements :

i) No High Court shall have the jurisdiction to declare any central law to be constitutionally invalid.
ii) An Amendment to the Constitution of India cannot be called into question by the Supreme Court of India.

(a) ionly

(b) ii only

(c) Bothiandii
(d) Neither i norii
Key: D

Itemcode : PP1077

Q62 With reference to Article 15 of the Indian Constitution, consider the following statements :
i. State shall not discriminate against any citizen on grounds only of religion, race, caste, sex, and place of birth or any
of them.
ii. Protection against discrimination under Art.15 is only available in the case of government action and not against
private person.
Which of the statements given above is/are correct?

(a) ionly

(b) ii only

(c) Bothiandii
(d) neitheri norii
Key: A

Itemcode : PP1078

Q63 Prohibition of discrimination on grounds of religion, etc ( Article 15 of Constitution of India) is a fundamental right
classified under

(a) The Right to freedom of religion
(b) The Right against exploitation

(c) The Cultural and Educational Rights
(d) The Right to Equality

Key: D

Itemcode : PP1079
Q64 Which part of the Constitution elaborates the concept of a Welfare State?

(a) Preamble

(b) Directive Principles
(c) Fundamental Rights
(d) Fundamental Duties
Key: B

Itemcode : PP1080
Q65 A proclamation requiring a person to appear must be published giving

(a) Not less than 15 days time to the person concerned
(b) Not less than 25 days time to the person concerned
(c) Not less than 30 days' time to the persons concerned
(d) None of the above

Key: C

Itemcode : PP1081
Q66 When the inquiry or trial relates to an offence under section 376, section 376A, section 376B, section 376 C or section
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376 D of the Indian Penal Code, the Inquiry or trial shall, as far as possible, be completed within a period of
months from the date of filing of the Charge Sheet

(a) 2
(b) 3
(¢) 5
(d) 6
Key: A

Itemcode : PP1082

Q67 As per Criminal Law Amendment Act 2018 Persons committing of offence of Rape on a woman under sixteen years of
age shall be punishable

(a) For a term which shall not be less than 7 years but which may extend to life
(b) For a term which shall not be less than 20 years but which may extend to life
(c) For a term which shall not be less than 10 years but which may extend to life
(d) None of the above

Key: B

Itemcode : PP1083

Q68 "X" on receiving grave and sudden provocation from "Z" intentionally causes the death of Y who is Z s brother
: X has committed the offence of

(a) Murder

(b) Grievous hurt

(c) Culpable homicide not amounting to murder
(d) Attempt to murder

Key: A

Itemcode : PP1084

Q69 A by falsely pretending to be in Civil Service, intentionally deceives Z, and thus dishonestly induces Z to let him have on
credit goods for which he does not mean to pay. A is guilty of

(@) Criminal breach of trust
(b) Impersonation

(c) Cheating

(d) None of the above

Key: C

Itemcode : PP1085
Q70 Which one of the following is the first step in trial of summons cases by Magistrate

(a) Trail to be conducted by Public Prosecutor
(b) Compliance with Section 207 Cr.P.C

(c) Recording of plea of guilty

(d) Substance of the accusation to be stated
Key: D

Itemcode : PP1086
Q71 Which of the following is primary evidence ?

(a) The commissioner prepared a report and signed it

(b) A copy of medical certificate prepared from the original
(c) A photocopy of the will

(d) Enlargement of a photo from another photo

Key: A

Itemcode : PP1087
Q72 A post mortem report is admissible under section of the Indian Evidence Act

(a) Sec.41
(b) Sec.43
(c) Sec.44
(d) Sec.45
Key: D

Itemcode : PP1088

Q73 In the context of the Protection of Women from Domestic Violence Act, 2005, Child means any person below the age of
: years.

(@) 12
(b) 18
(c) 15
(d) 16
Key: B

Itemcode : PP1089

Q74 Tampering with the computer source documents is an offence punishable under section of the
Information Technology Act 2000.

(a) 65
(b) 66
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(c) 67

(d) 68
Key: A

Itemcode : PP1090

Q75 The Special Court under POCSO shall complete the trial, as far as possible, within a period of from the
date of taking cognizance of the offence.

(a) 3 months
(b) 6 months
(c) One year
(d) Two years
Key: C
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